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SP% B A 41950 13660 70 30 5 28290 85 53 0
H—x—3> B A 26161 3136 40 26 5 23025 80 40 0
NG =RE 24030 4810 40 21 1] 19220 60 32 10
SPA—* JtimiE 12326 3696 50 23 2| 8630 70 45 5
ARA—F R JtimE 9450 300 15 15 15 9150 110 56 0
MlLafxFa™ RHFR 8230 2575 160 87 35 5655 346 161 40
LY —D7> BBA 7090| 3220 15 2 1| 3870 50 37 1
E<JY RHR 5380 1740 60 43 20( 3640 99 58 10
TDEIE BBA 5259| 2060 60 10 1 3199| 1000 126 10
T AE— RHR 4540 2410 45 20 10 2130 50 42 30
#Faay) BBA 4410 1500 50 33 25 2910 200 89 35
ZILARAA)T7  RER 4040 180 90 72 65 3860 189 133 40
TE BBA 3923 210 600 310 20/ 3713|1300 649 25
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